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1 adusi &6 vy dloy ¢l ?

Which number is odd one out in circle ?

(A) 88

(C) 58

2 vudl Uy k6, 9, 15, 27, %( g

A) 41,81 S £ o(B) (511,99
€) 31,71 | (D) 61, 89
Fill ifi the blank'; 6, 9, 15, 27,

(A) 41, 81 (B) 51, 99
(&) 31,71 ‘ | - (D) 61, 89 ‘

3 (D)l wouwA g wad ?

Which letter replaces (?) ?

cle[L].x

Tola]?)...

B) Q
(D) O
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4 gsH Ui Rl B, dl uiad] aRwasi s wda e ? (seus/Me)

2.31 3.13 3.55 4.37
— — A —N

(D (2) 3 - & (5)
(A) 4.39 ‘ (B) 4.43
(C) 4.54 _ : */g;)) 5.19

There are five watches in shop. What time should the last (fifth) watch
show ? (Hour-Minutes)

4 e
" 2

2.31 3.1.3 3.55 4.37

n @ (3) (4) 5)
(A) 439 (B) 4.43
(C) 4.54 | (D) 5.19

5 viell ULyl : 8, 6, 9, 23, 87,
kS

(A) 429  (B) 324
(C) 226 - (D) 128
Fill in the blank : 8, 6, 9, 23, 87,

(A) 429 ‘ (B) 324
(C) 226 (D) 128

6 72 Dall/sasl 23l wdl Hasudl 250 2 Q2813 26 A5Hi w53 B
21 Aol 2ol dous 32ell e ?

(A) 230 2R ‘ (B) 240 22
(C) 260 ™ler ‘ (D) 270 Hle:

~ A goods train running at the speed of 72 kmph, érosses a 250 mete-rs
platform in 26 seconds. What is the length of a train 2

(A) 230 m. (B) 240 m.
(C) 260 m. | (D) 270 m.
HWMP02_C | 3
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7 A, B, CA el dloy udlidl 1136, 7636 i llj_%f udl w4 8.

¢

dl 228l @del Gheaizd 3zl 25l 4o Mol ? 4

(A) 53% B 5%
© 60% D) 65%
A, B, C contested electibn and received 1136, 7636 and 11,628 votes.
‘What percentage of total Valld votes, the winning candidate get ? |

(A) 53% ‘ B) 57%
(C) 60% (D) 65%

8 sl ad udai A, B 2wA Cl w3 612 27 ay edl, uia o udai B »i

CHll e G4 20 9¥f &dl. d 2u% Ar[l1 GuR Jedi 8 ?
(A) 30 af (B), 35 &l R =
© 40ad (D). 4598

Avarage age of A, B, C before 3 years was 27 years and B and C

average age before S years was 20 years. Present age of A is
(A) 30 years (B) 35 years
(C) 40 years | (D) 45 years

9 s Qd 11 Bl naterll A2 21 uwin Bl wael Ragyj | ECTER] uqm'
52 6. L Aol wld welMi €Ll Ak Jael ¢ ?

(A) 3 Bfljseus | B) 5 D+llfsas

(C) 8 Bll/sens ‘ (D) 10 Qy‘-ﬂ/};(—u_f,

In one hour a boat goes 11 km along with the stream, and 5 ki
. _ b {m
agamnst.the stream. Then the speed of boat in stj]] water is

e,

- I (&) 3 kavhr, (B) 5 kmv/hr.

’ () 8 km/hr, | (D) 10 kmvhr,
HWMPO2_C | i
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10 650 3.+l caossll vias Anaal 10% @y 4ddl 215 ¥+l e (Bud 96 3.

@ heq A5 %3N S 7

(A) 3100 3.
(C) 6500 3.

(B) 6240 3.
(D). 9600 3.

To obtain an income of 650 Rs., 10% interest bearing stock is purchased

at 96 Rs. Then the investment is

(A) 3100 Rs.

(C) 6500 Rs.

(B) 6240 Rs.

(D) 9600 Rs.

11 “ledls At el YR A 2Udel asusas 2a © 7

(A) esdlr
(C) sl 52

(B) Al
(D) Wlazewd-

Non stick cooking utensils are coated with

(A) Teflon
(C) Black paint

(B)" PVC .
(D)~ Polystyrene

ARuN g el vie 34l ateusi 21d 8 7

12
(A) W (B) ¢l3
(C) el D) A
Sodium metal is kept under -
(A) Petrol (B) Alcohol
(C) Water (D) Kerosene
13 ‘@se Sux A e, Hi 8 ?
(A) Ryl au 2asiald (B) ustusll »3u «nelald
(C) diRily iR 2l (D) Azl 3w et
"Light year" is a measurement of '
(A) Speed of aeroplanes (B) Speed Qrf light
(C) Stellar distances (D) Speed of rocket
HWMP02_C ] 5

[ Contd...
N

Scanne d with CamScanner



https://T.me/govtbharti_info
https://GovtBharti.info

re/ govt bharti info | Govt Bhart | . im o)

14 'Sal5zs siz’ iual W2 &y e quad 8 7

(A) Slyze: ‘ EC‘:‘; (B) :Avﬂﬂv{laa
(C) R © (D) deelR
"Electric current” is measureg;\jay

(A) Commutator (B) Anemometer

(C) Ammeter (D) Voltmeter

IS sisdlal 3R (umw) Rz pa uguni x0da 8 7 .

_ - .
(A) PRk | O AB) ddaell
(C) uewu &;} (D) difHa-iy
Kakatiya Rudreshwaray (Ramappa) Temple is in which state ?
(A) Bihar (B) ‘Telangana'
(C) Maharashtra (D) Tamil Nadu
A ¢
. : =)
16 INS #itad, SlR-19 2l ogdl wmal add su1 2usi ety B ?
(A) A+ ~ &j (B) y.¥y.2,
J,(:) SERIEICT) (D) Wyt
INS Airavat arrived in which country with relief material for Covid-1 9°?
(A)" China (B) UsA
(C) Indonesia I~ (D) Russia
: : -
é 17  WTOAL vidald 3%l 49 2019@’1 Wd Qeladldl FMsimj MRy 8y 2w @ 7
% (A) 44 (B) 9y
(C) 104 (D) 2%

Which place India has, in agriculture produce e

Xport in 2019 accordi
to WTO report ? Iding

(A) 4t (B) oth
©) 10t (D) 2nd
HWMPO2_C | 6
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18 ‘sielle oy Raw’ e o su13 Gy & ?

(A) 23 s | B) 24 g
C) 25 g :
©) 25y D) 26 %als
"Kargil Vijay Diwas" is celebrat@ every year on which date ?
(A) 23 July N (B) . 24 July
O

(C) 25 July (D) 26 July

19 elami Yoy Wi weald sfsl Adly slaglls’ & el s edl ?

(A) HRUl I~ (B) %»
-

(C) Gg (O (D) Hauied

ke ; |
Renowned poet "Satish Kalsekaxgrecently passed away, belongs to
which language ? | | \

(A) Marathi _(B) " English

(C) Urdu (D) Malayalam

™

' =)
20 “Ayud $-23lad 8+ §[=3u1-202 l(iﬁulé 28 el ula 8 7
BN
(A) 2180 ‘

B) Hl §eria-ta A Q%éﬂ

(C) i 214101
(D) B) 23 (C) dIL Y5 dd

S
ntegration in India-{%gﬂ, report was released by

Ko
(A) DRDO (&N

Energy Alency (IEA)

Renewables 1

(B) The International
(C) NITI Aayog
(D). Both (B) & (C)

HWMP02_C ] K [ Contd...
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21 9 A ouesd 56 ll wiudidl 21d 8 7

AA) A ) | @) a2~ .
(€)ool 3 D) el 2
| 1 g
Which vaccine is given at 9 month of age of a chllfi ?
(A) Measles vaccine (B) DPT va.ccme .
(C) BCG vaccine (D) Oralpolio vaccine

22 ARRMEARRA Aol 54 DA 2 8 7

_AA) ArlRuyRl Sredomy (B) M. W
(C) . 214l (D) dleflz) fadl
Which organisms causes Leptospirosis disease ?

(A) Leptospirae interogens (B) P. Pestis
(C) S. Typhi (D) V. Cholerie

23 syqAa M9 Guld 2 sy ?
(A) Aol Yl ™l
(B) adq wiell
(C) eRus well

D) dieL wiell-l M) |

Which is the breeding place for Culex mosquito ?
(A) Collection for fresh clean water
(B) Flowing water
(C) Sea water '
(D) " Collection of dirty water

24 Adedl ARuAAUL DA arg wHIRe B

(A) RQ9dl AB) A alzq
(C) Ml ya wel CAD) BURAL dayy
Following items are included in sanitary barriers.

(A) Sanitation

(C) Clean/ bacteria free water

(B) Sanitary latrine
(D) All of the above .

25 sldu-l Aol Qo1 Ggetadt Aal Jaq AU gy @ 9

(A) 1 adell 2y - (B) 2 a4 q

' ©) 9wyl 12 Wy D) 2 sz 'k
U What is the'incubation period in Cholerg 9 b

(A 1to02 years
(C) 9 months to 1 year

BNy,

'\"&

B) 2 t0 4 yeary
D) 2 hours to 2 days
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(A) 20l sl (B) DPT asfl4
_(© ARl (D) . Rl
Which organism causes Diptheria ?
(A) OPV vaccine ' (B) DPT vaccine
(C) C - Diphtherie (D) P. Pestis
27 ofl wsRAL SHOUMHL A2t BgHar Al Jae yHasl U B ?
(A) xR ir\qﬁ (B) 2 sausdl 2 Rax
—HC) 6 AsaAlRUI] 6 HIUWN AD) 154l 45 o
What is the incubation périod in Hepatitis B ?
(A) 9 months | (B) 2 hours to 2 days , {(
(C) 6 weeks to 6 months (D) 15 to 45 days ‘ ;
\
28 AR selHidll ddlii uAudl sul AFuHL HAR A 8 7
(A) RS2 (B) AU
(C) AsAse _AD) dddzue
Which form of malarial paracites suked by mesquito from malarial
patient ? '
(A) Sporozoite (B) Merozoite
(C) Trophozoite |~ (D) Gametocyte
29 A8 2ilssa RicIzil $5 AMUAL AL Sl Y HHIBLAL LS AL 3y ot dl
AN g 58 D2
| ) R AL (B) 21348 AL
—C) AR oL (D) UMs Ao
~ When large number of cases of a disease occur in limited area in short
© period, is called ?
(A) Sporadic disease (B) Endemic disease
(C) Epidemic of disease (D) Pandemic of disease
30 HIV / AIDSH! Bielet 412 ICTCHI 541 22 seusi 214 8 7

(A) wR.AM AR, R —(B) @l 272

(C). s 2R : (D) [sla 222
Which test is done in ICTC to diagnose HIV / AIDS ?
(A) R.T. PCR test (B) ELISA test
(C) Sick test (D) Widal test

HWMP02_C | 9 [ Contd...
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31 siSaRuAlusll ARz W2 58 sal Awd 8 7

(A) 2l
(B) IwilA ‘ '
(C) APC (A1, Yulyerile, H4-)

D) DEC Quusa sisldofi usie) s

- Which medicine is given for the treatment of filariasis :
(A) Streptomycin :

- (B) Dapsone : ‘
(C) APC (Aspirin, Paracitamol, Codeine)
(D) DEC (Diethyl Carbamazine Citrate)

32 R4 (UBY) Sy 56 9w gy B ?
(A) AdMue S wuaef]
B) =3 Ay, 2yl
e) ¥ Aot acue]
) Ml suogyi W giay
- How do we get Active Immunity ? -
(A) ATS injection |
(B) Horse serum :
- (C) Suffering from particular disease |
(D) _From mother to child through placenta

33 8 Al Dol alignEaie) 3o qy B ?

(A) "#isMis | (B) yshis
AtC) W (D) W=y

Inflamation of which gland causes mumps 9

(A) Ovary (B) Testis

(C) Parotid (D) Pancreas

34 Rl 2ulA s 01 Pyl e sl 7
(A) 2196031 Ao ~(B) ddae) A,

Which disease is eradicated by giving vaccine from the World ?
(A) Chicken pox (B)  Small poyx '
(C) Measles

(D)  West Nile fever

35 oagsal Mzl w2 84 28l 5452 uny @ 9

A) §%. [Bor asds B) &% szl
(D) S, REE 259,

) §%. 4qaq
Which VV _ﬂu_id-’is_ given to treat dehydration ?
(A) Inj. Ringg; lactate

(©) Inj. Manigg). (B) Tnj. Dextroge

(D) Inj. Dextroge 259
HwMPOZCT 10 °
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36 QoL A2 Rl Ml RRY doisst s su D 7

(A) eyells | (B) 4NFs

©) s - D) GuAl
Which are different stages in plague ?

(A) Bubonic - (B) Pneumonic -
(C) Septicaemic (D) All of the above

37 sclsioflale Wl ARARAL aud B ?

(A) &y \ B (B) atSass
AC)T aull SR (D) ol usia-l sl
What is treated by Clofazimine ? : |

(A) TB. | (B) Typhoid
(C) Leprosy | (D) . Hepatitis B

38 sul [R2ABinl Glaruell Qe e 8 7

/,(A) gL | (B) Relsddld
(€ Farldd (D) (RS AR
Which vitamin deficiency causes Pellagra-? o
(A) Thiamine (B) Riboflavine , \ﬁi
(C) Niacin (D) Pentothenic acid-

e | )
30 Rali-ail 6 Hikis Ao s adell Ml euas sadl Au ! \f,"-(/

@A) 1M&d. (1iun) ~B) 2B.d. (2iu)

(C) 3 M.l (3iu) (D) 4 P.el. (4 iu)

What is 6 months dose of Vitamin-A for child above 1 year of age ?
(A) 1ml(liu) B 2mlQiuw)

(C) 3ml@3iu) - (D) 4ml (4 iu)

40 allq A oR1eR B0 9 % 3 d el g QR D ?
A) du 8 (vM 4+B) sud amTv{lazr—Q”é 9
(C) aqdlse 2% ) cﬂc[l@m

What is used to know whether the Vaccme 1s kept at normal
temperature ?

(A) Deep Freeze : (B) Dial_th@nmﬁeter
(C) Benedict's test (D) VVM.: .

HwWMP02_C | . 11 [ Contd...
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?
oluell 41y
41 slorguy] 219 Wisifis uesidug sl sidiarl fu{md
(A) Swyfuq A (B) Q;Edmd '
(C) AR D) etmlsm and menta]
Deficiency of which hormone gives rlse to cr |

retardation ? »
™~ (A) Insulin . (B) Testosterone

g (C) Thyroxine (D) ‘Adrenollné

420 2G5 Aqe 56 A 91y B ?

(A) @] . (B) 1y Al
(©) Ad A | —(D) AUl 8laeilg eat[c[H
How non-verbal commucation j is done ?
(A) By writing _ (B) Reading newspaper
(C) Viewing TV ' (D) Showing facial expression
(% AR Wl Gloryel] ey g 7 s
, opfA)  dlgdr (B) 3leuuy ¢
! ‘ O (C) 2R (D) iy
Deficiency of which nutrient causes Anaemia 9
(A) Iron L (B) Calcium
¢ (O) Iodine -~ (D) Manganese

144}t g1 Prsie 3 93 53 o ?
e YA el
% (B) Ruidsa 683
N (O %l yaue s
\O (D) Guastiel s you
- How solid waste is disposed ? -
(A) Burning
(B) Recycling
©) Landfilling A
(D) None of the above

[~
453 1000 422 e[y s 5 J2d) sy LIEREY AT 2.
\-@@‘ 2.5 ay (B) 25 gy
g:) 5 B3y . (D) 10 [},gu
OW much : ! : ' ¥
Wit ?‘uc chiorine powder is required to Ch[orln_ate 1000 Jitre of
(A) S gm
3 D) 10 kg
HWMP2.C ] 12
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47

48

49

50

il @Al IR, ALHA 2 s sl ugl (6o0) el Wil
AU SUL USRY AU 58 B 7

(A) kauﬂ&s WedalRaA By s Mitaral

(C) uiwglds AiddaRel (D) Rl HndaRe

Study of the total way of life of-man, his way of thinking, feeling and
action known as which type ©f'Anthropology ?
(A) Physical Anthropology ‘jf:" (B) Social Anthropology

() Cultural Anthropology :‘.\lf (D) Medical Anthropology

aylL HAdL YA HAd WS drd 84 B T

(A) WA - B) swellasie
(C) el ; , D) dlgdr
Which micro nutrients is in ?p_gion - select the right one ?
(A) Proteins - (B) Carbohydrate
(C) Fats ‘ e (D) Iron
N
Qi ARRIRAL 519) Al Hedd ‘iﬁ&m sieL g S B 7
A) ddi yor adl | AB)  refellsmt
(C) Wdld (D) dlst dla
The primary cause of death in acute diarrhoea is ?
(A) Hypoglycemia ' (B) Dehydration
(C) - Haemorrhage ' l:: (D) - Hyperpyrexia
©
gl Hal Ay adReL s Ayl Ay @I B 7
(A) esd W (B) ug
(C) Al D) Fsul
Pneumonia is a disease of which organ ?
(A) Heart v (B) Liver
- (C) Kidney (D) Lungs
; r"‘"
(Koplik spots) Sluls ul2 SUCRAML B 87
(A) s s o @) s
(C) . dldoun "o (D) 30a i R
Koplik's spots are seen in which disease ?
(A) Chicken pox (B) Measles
(C) Small pox (D) Rubela German measles

HWMPO02_C | 13 ' [ Contd...
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?
51 RN (osteomyelitis) sul detril 2L éxqmd?l
(A) WaAsidat (B)

(C) Adidat y _D) 351&@1
Osteomyelitis is a disease of which system ? '

(A) Digestive (B) Respiratory
(C) Nervous (D) Skeletal

52 2le €M 58 il ol Gt 53 D 7
(A) nSASs B) AR [Wyedl °d~
© UBu (eughis) sk _ (D) Q¢ 2a=
Growth harmone is produced by which endocrine gland ?
(A) Thyriod , (B) Anterior pituitary gland
' (C) Pancreas (D) Adrenal gland

53 g raol AlRdM] o) «(e) ? a {2 aendq R:tsetnme{l ARIL o] Q).

(A) 288183 (B) 1\ a3

(C) ANPBs 2138 (D) ¥l oz

Which disease is not found.if India ? Select the right one from below
option. _ ’

(A) T}’PhOid (B) Cholera

©) Epidemic typhus R (D) Yellow fever

54  Jeals Po'v’t[és :aaaq sl W] Yol Fqcu@, DECTHY wal}t EE R

A WA Asun - (B) ey Rsy

(C) [dlu Asuy . D) adly 9 s
Preventing consanguineous
diseases, known as -

(A) Primordial prevention (B) Prima
(C) Secondary prevention D) T,

marri
A88S 50 as to Prevent some genetic

Ty prevention
Tertiary prevenuon

55 2 Bien-ll 43R Al a%sdl sl WREYG (m

_(A) w3 Agells B) w3 "8?[@,
(O Bz : XD) oy Ay

The report on the sanitary conditions i U .
Great Britain was submitted by whom 9 : »0ur1ng population 11

~ (A) Sir Edwin Chadwik ®) si e o
(C) John Snow (D) Yo .S.amla Peter Frank
lm
HWMP02_C : 14 s
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58

(A) oudld vt
(B) WUed ulawsl
JO) Aas (slefla) Wel |
(D) e (swolla (Wind) g et (3dl))
Dorsal cavity - Select the right one from the options given below.
(A) Thoracic cavity -
(B) Abdominal cavity
(C) Pelvic cavity
‘ (D) Cranial cavity

s o stellelsie 3edl 3adl 3ud 9 !

AA) - 4 Bl 3adl (B) 9 Bl 3ad
() 7 Bl 3adl (D) 10 Bel 3l
How much calories provides by 1 gr. carbohydrate ?
(A) 4 kcal (B) 9 kcal
(C) 7 kcal (D) 10 kcal

et qioll, sl el s As-sui Jeal el g2 udllfdd U B 7
(A) 100 o2 [R5 (B) 200 l2x [ A=

(C) 300 ez [ As=s (D) 500 2 [ As=

At what rate / sec. sound-waves travel through the air ?

(A) 100 meters / sec. (B) 200 meters / sec.
(C) 300 meters / Sec. (D) 500 meters / sec.

50 <3 widal ualiuid] s34 viaud -l AidRsid el el 7

60

HWMPO02_C |

/tC) Slaun

(A) RARAY (B) %%
In below mention option, which organ is not the part of small
intenstine ?

(A) Duodenum

(B) Jejunum
(C) Ileum

(D) Rectum

3ol ezl wda Yoy 101 7

AR) 2 WY (B) wayYdsdl
(C) AR (D) 1€ 225
Cause of death in case of drowning ?
(A) Asphyxia’ (B) Dehydration
(C) Acidosis (D) Heart Attack

15 [ Contd...
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Y sul il I syl ?
19806

1092

61 vy 3 Fodsgw sedey oud A
(A) 1985 (B)
_AC) 1987 (D) _ .
In which vear Government of India launched National AIDS ¢ Ontro|

Programme ?
(A) 1985 (B) 1986
(C) 1987 (D) 1992

62 wuwi qleen didddl Glery w2 diga (wuasd) A gl AR o
S2Gl WHY M2 MqaH] W B 7
(A) 90 [eay —B) 100 Raxy
(C) 120 [eay (D) 150 [Ray

To prevent anemia in pregnancy Iron and Folie acid are given for how
many days ?

(A) 90 days (B) 100 days
(C) 120 days (D). 150 days

63 3 e (Bt udls Bagasl o0 oyoy Jeuld @ ?
A alEsiy Gyr ez (B) ollqR sumsd] 2uoqo
(C) ollxudl-l Asen (D) 5301 Maloge
* The Apex of the symbol of under five clinic represents what ?
(A) . Growth menitoring (B) Care in illnes; |

(C) Preventive care (D) Family planning

64 %S Slaudl sel Y suxE] ud) 33y|
(A) Gwird
_A€) A-susiluy
Which is the occupational disease oc
(A) Heat stroke
(C) Anthracosis

U aqafys 3o, sy ?

(B) 33 - ey,

(D) iy

cur due to inorganics coal dust ?
(B) Leukemi,

(D) Byssinogis

65 suufs 201Ul douadl dseuqy sy WLy

(A) 1968 B q‘;‘gl;l*ufﬂ ?
(C) 1978 (D) 1988
When the concept and dimension of Primary
(A) 1968 ®) 19.“cﬂlth accepted ?
(C) 1978 (D) 19gg
HWMP02_C | 16
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66 20el 25 aril a2 whieE Wk s AR Geule F2al A

67

(A) 250 (& | B

gy & 7

(B) 270 s [ s [ e

(C) 350 A | el [ B (D) 500 2u4 | eulsa | (e

In 20 to 25 lacs population, how much solid waste generated / pp / day ?
(A) 250 gram / per person / day (B) 270 gram / per person / day
(C) 350 gram / per petson / day (D) 500 gram / per person / day

a1 vl aiadl 12 YRd Al wsia deal asudi el ASH ?

(A) 100 @454 - (B) 400 as¥
(C) 700 asd | (D) 900 &5
State the recommended illumination for casual reading and writing ?
(A) 100 Lux .~ (B) 400 Lux
(C) 700 Lux (D) 900 Lux

68 liRiug drsaRl (UK U ¥l @ sRauHl 2l 8 ?

(A) 1995 (B) 1999

__{C) 2000 (D) 2005

Municipal Solid Waste (Management and Handling) Rules were
offective from, which year ? ‘ :

(A) 1995 . L (B) 1999

(C) 2000 | (D) 2005
69 odloid d\Rfol i elueiR Ayl 54 B !

(A) sl JlSUSS

(B) [ad. |

(C) ~uSza AsAS3 A 5\ A5 sl

(D) Guz-L (A+B+C) ™ '

Which gases are responsible for global warming ?

(A) CO, (B) CH,

(C) N,0 & CFC (D) Above all (A+B+C)
70 3l su vadadi ddld yluse a8 !

(A) 2ol ‘ (B) il

- (C) saulHsl | D) Ayl

In which parts of the lungs, purification of blood is done ?

(A) Trachea (B) Bronchus.

(C) Bronchioles ' (D) Alveoli
HWMPO02_C | 17
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71 doRid-L Shisi edl 54 A3 w)g 8 !
(A) ‘12 AR - Hrlerald BUS
(B) 2teuviid - oj%ridul YRAH Al ¥l
(C) sl ‘wsuR - Héue AU
(D) deudsl ‘wals’ - g [
Identify wrong match with refereficé to
(A) 'Chhote Sardar' - Manaharlaf:-@qsai g
(B) Alapkhan - Founder of Musg-i(}g)-ln Power in Gujarat
(C) 'Akabar' of Gujarat - Mohmed Begdo
(D) 'Ashok' of Gujarat - Kumarpal

72 aRUcHl WAl Shretstl Qa-usidl A9 awsod DA suel edl ?

Yrilz

history of Gujarat.

(A) 2wl Geuxdl (B) el 3uudl

(C) el 33en8 (D) el -lfsedl _
Who among the following defeatdd"Shahbuddin Ghori in the ancient
history of Gujarat ? (D
(A) Queen Udaymati . \f\) (B) Queen Rupmati
(C) Queen Rudabai f Ql (D) Queen Naikadevi

73 S 193840 yeUMeig ol eRidel Sa1 Uzl MANANT i3l Wil
UYL Gl UHL ALl 8t ? '
(A) A%sl2 «AB) Ryl
(C) elasdR ‘ (D) i
In the year 1938 A.D. Subhash Chandra Bose was mad ‘

. . ey th t

of Congress Party in which city (th_?ujarat ? g residen
(A) Rajkot oy (B) Haripura
(C) Bhavnagar _ N (D) Vapi

74 9%l etz YAl Al 2o 1By Y2
(A) BAUHALS AL
(C) [Relucus udlw

Who among the following chief minj

L0 w1z oy ?
(B) sellaeiy yaq,

(D) disig AU ey
st :
ers of Gujarat was for the least

. period ?
(A) Ghanshyambhai Oza (B) Chhak:
(C) Dilipbhai Parikh ™ D) § habildas Mahety

ankarsinp, Vagt
_ aghela
75 Al .. 188041 sul & 0 o5 )y ;

) MY 3y
(A) ela-R - olldd .%1 (B) ("l.lG[qa;la U8 &l ?
(C) e{a-dR - Hgdl 7 My = daqy)
The first railway started in Saurashtra, in th " U%Sl2

Cye
two places ? i 1880: between which
(A) Bhavnagar - Gondal (B) B
(C) Bhavnagar - Mahuva (D) ma:gar ~ Wadhvan
HWMPO02_C | 18 8ar - Rajkot
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76

77

78

79

(A) olnale (B) LS
(C) exuia [~ (D) diks yddl s Geal AWl

In which T.V. Serial Uday #ajmudar gave the music ?

(A) Buniyad g (B) Chanakya

(C) Ham Panch L 1(53 - (D) Tarak Mehtaka Ulta Chasma

80 oludd 54 Ul ‘W2 siall’ ddl3 nelld © 7

(A) R | (B) HlreieR

(C) Yd (D) &lRsl

HWMP02_C b
€1 19 [ Contd...

ot (A) ciRfleld ail .

dosc-tl ellsauilscni QAAiel 54 s ‘@l 2201841 el 2agd ?
(A) Hetllddl , [ (B) Rl

(C) el O D) vudl

Which of the following is ﬁét’ considered as the category of 'Bhajans’
in folk literature of Gujara‘é‘lg
(A) Prabhatiya

(C) Ambo

(B) Barmasi
(D) Pipalo

ad sdlRiaL ¥ dRa sul ¥ dlseal wulia wda !
(A) udal dldsn - B) Al dlds2

() et 52 - (D) sl dlfs2
To whom among the folldwing Jain Tirthankar the Hathising Jain

Temple of Ahmedabad was{w}i)l:dicated ?
(A) First Tirthankar ' (B) Twenty fourth Tirthankar

(C) Fourteenth Tirthankar (D) Fifteenth Tirthankar

HellEH] 2l

Al ‘sleidlar Ristel sdl S8l sdl ? |
(B) :U4us AN

(C) LHd8 Alal ) (D) 24UE ~1us

Who among the following s a creator of 'Dan Lila' Paintings ?
O (B) Ravishanker Raval

(A) Bansilal Verma g o |
(C) Shyamvax Chavda ’ (D) Jashubhai Nayak

Gey Mgk DAl 59 2.l RRuasi @old z»w{i, ed 7

Which city of Gujarat is famous as "Chhote Kashi ?"
(A) Jamnagar (B) Porbandar
(C) Surat , (D) Dwarka
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81 {laAn1 U4 56 20l ow el ?
(A) Riy + GR = uypl
(B) % + w8l = %l
(O) R+ sdl = RAsdl
—D)  Graw + »len = Guigla

82 Al A4l sur wieuell 208 Aoy B ?

CGovt Bharti.info

AL get - ofudag, siad, wiss, g

—(2) MR - A, e, Ty
(3) - ddlid, Ay

LAY 1 9A 3 qoy B ?@j 2 24 3 Yoy )

(9, 1T 2 2 Yoy @

83 2-istell eel U4 sl wo wyg Wloy e @

(B) e - ukiRq

(A) A - el Qi

D) 1,2, 3.4y &

(C) A1~ uR)e ' AD) sl - wiyg)

84 " [Qgiell sicel A o)sd).
. O :

(2

3)

4)

(A) 1-D, 2-A, 3-B, 4-C

(Cy 1-B,2-C, 3-D, 4-A

(B) 1-A, 2-B, 3-C 4

-D
(D) 1-C, 2.{)’ 3

-A, 4-B

85 Gauel & auly A aAAdl Pt By oy
Ay Asg) "Tlél
. s g

Yloy <] ?

(A) 2l - elay] el Auralg sy # sy -

(B) & - Rie2 # 51 - B, g0

35l Wiy y

(C) GUIEIR - ARdl # GUSIR - G2, oilyy

(D) &l - ndleel # g2l - Al
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86 3 A4 sl woe wye dlou el ?
(A) Fuiell arg w2 w1l ad Wt - BEAUPL_—
B) ol asw s - AR
(€) % uz A - AslBizl
(D) el s 1ol a3 Al - uladla

g7 <Al 3RuaeN U4l sl 3RudloL dlou 8 7
(1) st Gaual - si- 9% 537l
(2) sidtL sl syl - vl 4d
3) MR ad] - usl Al
(4) o8la Hiddl - efolale-fl ya s2ql
(A 4 _AB) 3

€) 2 D) 1

g8 3l s8adl U 56 sdad qoy Al 7
(A) eldlii sz suadl - WalHd s2dl
LAB) &id vl 53l - wud arg el
() ¢id duddd =eR sojadl
('/(D) ALs ussdl = u s1el Aelg

80 i A4 &6 Asel dou -l ?
(1) dlluy
2) alRsd
(3) e{liln
4) [Mma
(A) 1243
(C) 2243

(B) 122
(D) 1,2, 3 %4

00 A U4l sul vidlew woerdl Bisell dou el ?
A) R _(B) Sy-le

(C) AyBHUY (D) Ruba

- Hwmp 5
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91 Identify the grammatical function in the given sentence
"Since you insist, I will canvass for you."
(A) Permission -+ (B) Purpose
(C) Result (D) Reason

92 "[like this picture". Identify the category} of determinent of underlined
word.

(A) Distributive determinent
(B) Demonstrative determinent
~C) Intensifier determinent

(D) None of the above three

93 Correct the underlin;d part of the given sentence

"Who has invented paper 2"
(A) Who was inventing |
(B) Who invents

(€©) Who invented

(D) Who will invent

94  Identify the wrong match of plura].
(A) Series — Serieses
(B) Child — Chilgren
N Roo‘f — Roofs
(D) Mango — Mangoes

.95  Put appropriate Article in the blank,
"[ hate - . geography and geometry,"
(A) the B) 4

(C) an D) N artigy
‘ IC]a
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96 Opposite word of - "digestion"

(A) illdigestion (B) undigestion.

(C) indigestion (D) imdigestion

Select the correct arrangement to make a meaningful sentence.

97
' Why he (1)/do you (2)/is laughing 7 (3)/know (4).

T® 2,413

@A) 1,3, 4,2
(D) 3,421

©) 2,3, 41

08 Select the correct sentence.
(A) Manish will either study or play .tennis.

f(B) Manish will either study nor play tennis.

- (C) Manish will nej’ﬁher study or' play tennis.

/((D) Manisﬁ will either study and play tennis.

99 Fill in the blank with appropriate preposition.

Dogs have antipathy ~ cals.
(A) from (B) with
©) to (D) of

using the word given in the

100 Complete the following construction
. (peon-bell)

bracket : "As soon as I reached the school,
(A) the peon was ringing the bell

4B) the peon rang the bell

(C) the bell rang by the peon

(D) the peon ring the bell

HWMP02_C | 23 [ Contd...

Scanne d with CamScanner


https://T.me/govtbharti_info
https://GovtBharti.info

	GMC MPHW-C Series PAPER
	GMC MPHW-C Series PAPER
	GMC MPHW-C Series PAPER

